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REPEATED SERIES

gfe ig eii fei gf ii

A.eifgi
B.figie
C.ifgie
D.ifige



REPEATED SERIES

mnNo nopq opqrs

A.mnopg
B.ogrst
C.pqrst
D.qgrstu



What should come in place of the blank?
h TATT & TATT UT FIT 37T dTMeT?

QI ICI EIF

K,
A.
:
C.
D.

><]>N'<



What should come in place of the blank?
h TATT & TATT UT FIT 37T dTMeT?

19, 5, 12, 5, 3;2QE9F 5
15
14
13
12

CIRR i



What should come in place of the blank?

h &

IG

J o TATT UT FIT 3T dMeu?

KMS5, IP8, GS11, EV14, ?

=l o

BX17
BY17
CY17
CY18



What should come in place of the blank?
h TATT & TATT UT FIT 37T dTMeT?

AGM, EKN, 100, ?, UWQ
A. MSP

B. OTP
C. NSQ
D. OSP



U,O,?E,A
0,?T0,?ER
?H,E,N,R,A,S

J, FM,A M, ?2,7?



Four of the following three are alike in a certain way based on their

positions in the above arrangement and so form a group. Which is
the one that does not belong to that group?

#A3SRV79*M2SNOKWPIBHK&IWE@DIM%

A. K%8
B. A37
C. E@D
D. 1WD



What should come in the place of question mark(? )
9T TeI7g oh TATH U ST JATTIT(? )

ADIPY?

A.A
B.F
C.J
DAY



#HA3RV79*M2INIOKWPIBHK&IWE@D9M%

Which of the following is the seventh to the left of the seventeenth
from the left end?

e aTai@a & O did 910 R 8 T3gd & d1T @ Tdd TATT WX 672

A.2
B.M

C.S
D.k




#HA3RV79*M2INIOKWPIBHK&IWE@D9M%

Which of the following is the fourth to the left of the fourteen from
the right end?

GEo

T & & e a B & ez & ard & e 32

A.N
B.P

C.S
D.9



REPEATED SERIES

_OP_MO_N__PNMOP_

A. MNPMON
B. MPNMOP
C. MNOMPN
D.MNPOMN



REPEATED SERIES

aa_aaa_aaaa_aaaa_b

O 0O W™ >

.baaa
.bbaa
.bbbb
.bbba







